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Question No. 1

The frequency of a sound wave is 200 Hz and its wavelength is 2 m. What is the speed of the
sound wave?

A) 80 m/s B) 100 m/s

C) 400 m/s D) 200 m/s

UF eafe T B gfeT 200 géer § 3N A Al & 2 AW # @y w I g A
CoIE 1|

A) 80 Hrey/dss B) 100 #HeX/qhs
C) 400 Hrey/d%s D) 200 #Hrex/ashs
Answer Key : C Your Response : C (Correct)

Question No. 2

Complete the series.

ABP, CDQ, EFR, (...)

A) GHT B) GHR
C) GHS D) HGS
Aol = qof Al

ABP, CDQ, EFR, (.)

A) GHT B) GHR
C) GHS D) HGS
Answer Key : C Your Response : C (Correct)
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Question No. 3

Downl oad RRB Juni or Engi neer (JE) Exam Study Notes
Into a cylindrical tub containing water to a depth of 20 cm, tiny spherical balls are dropped and

the level of water rises by 6.75 cm. If the cylinder has a radius 12 cm and the number of balls
dropped is 27, then find the radius of the ball.

A) 25cm B) 3.5cm

C) 1.5cm D) 3cm

20 AT IEUE TF TN F N TF JAAPR T H, DB MNAHR I el e § 3R g
HT & 6.75 AHA 9 Iar &1 I SofeT Hr Bsr 12 I & 3k et Hr dwar 27 & o s
At Hr B T fifsw

A) 2.5 G B) 3.5 @#r
C) 1.5 @#r D) 3 &#T
Answer Key : D Your Response : D (Correct)

Question No. 4

Where is ammonia is converted into urea?
A) Liver B) Pancreas

C) Stomach D) Kidney

I, gRAT 7% Fgt oRafia dar &2

A) Tpd B) 3y
C) Yc D) 9T
Answer Key : A Your Response : C (Wrong)

Question No. 5

Find the ODD one out from the given options.

A) MPS B) ADG
C) GJL D) NQT
Rw v Rewedl F & T Fr il
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A) MPS B) ADG

Downl oad RRB Juni or Engi neer (JE) Exam Study Notes
C) GJL D) NQT

Answer Key : C Your Response : C (Correct)

Question No. 6

is India's first dedicated multi wavelength space observatory.
A) MOM B) ASTROSAT

C) GEOSAT D) SLV

AR I Tgell FANT ag T S 3aRer Jemer g

A) MOM B) ASTROSAT
C) GEOSAT D) SLV
Answer Key : B Your Response : C (Wrong)

Question No. 7

For what values of 'k’ does the equation kx(x - 2) + 6 = 0 have equal roots?

C) 3,2 D) -2

'k & R AT & faT T kx(x - 2) + 6 = 0 & HT FA &7

A) 0,6 B) 6
C) 3, 2 D) -2
Answer Key : B Your Response : A (Wrong)

Question No. 8

'Dhokla’ is a delicacy of which state of India? www.exammix.com
A) Odisha B) Guijarat
C) Karnataka D) Maharashtra

Shell’ AR & P T T sl 87
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A) 3nfsar B) eI

S
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes
C) heilceh D) HERISE

Answer Key : B Your Response : B (Correct)

Question No. 9

Which of these devices controls the heart rate of patients?
A) Respirator B) Pacemaker

C) ECG machine D) CAT scanner

S0 U P I 30T VAT A g a1fa #F AT Far &2

A) araaT B) 9dHFT
C) et 7efieT D) &e ThelX
Answer Key : B Your Response : B (Correct)

Question No. 10

Which of the following acids is mainly present in vinegar?
A) Tartaric acid B) Citric acid

C) Acetic acid D) Oxalic acid

% # ey R & & Fi9 @ 3 Alsg T &2

A) TRER& 3HFd B) fafesw 3
C) wfafew 3ra D) 3ifFdrfee 3%
Answer Key : C Your Response : C (Correct)

Question No. 11

If 4 boys and 6 girls can do a work in 8 days, and 3 boys and 7 girls can finish the same in 10
days, find the ratio of capacities of a boy and a girl.

A) 1:11 B) 5:12

C) 11:1 D) 12:5
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Ife 4 asF 3R 6 FIsfrar R 1 = 8 At F = Foa §, 3K 3 @s%F 3k 7 «@sfRar, 10
et I 58 qu #% Gd! FriRras ol T e R SR Hea STushidet eia Ao

A 1: 11 B) 5:12
C) 11 : 1 D) 12 :5
Answer Key : C Your Response : C (Correct)

Question No. 12

The maximum number of electrons that can be accommodated in the outermost orbit is-

A) 4 B) 8
C) 2 D) 6
goaclal HI a8 AT T&IT, N AEITH FET A W hd 6, ol
A) 4 B) 8
C) 2 D) 6
Answer Key : B Your Response : B (Correct)

Question No. 13

How many single bonds are present in methane?

A) Six B) Seven
C) Four D) Five
AT & raer vl §Y Hisg &2
A) & B) &
C) IR D) 9
Answer Key : C Your Response : C (Correct)

Question No. 14

Mahatma Gandhi organized 'Dandi March' in 1930 against the-
A) Atrocities on Harijans B) Communal Award

C) Imposition of tax on salt D) Repression of the Congress
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1930 # metcom AP o O, S FALFT ATASE T Loy ot es

A) RS W IR B) @HcIR® qIshR
C) sTH® W FHT @A ATl D) &IH T gHel
Answer Key : C Your Response : C (Correct)

Question No. 15

A boat covers a certain distance downstream in 4 hours, but takes 6 hours to return to the
starting point. What is the ratio of speed of stream to the speed of the boat in still water?

A) 4:3 B) 5:1

C) 1:4 D) 1:5

U AT URT i foRm #F v fAREd gt Fr 4 € F ¥ A 5, AT Y fig o« dllewr A
6 E¢ 1 FAF oicll §1 URT Y 91l R AT STl H AT Y =TT FT 3T FAT 87

A) 4:3 B) 5:1
C) 1:4 D) 1:5
Answer Key : D Your Response : D (Correct)

Question No. 16

In a code language, 24631 stands for 'GREAT' and 5897 stands for 'MONK'. What does the
number 84712 stand for in the same code language?

A) OGKAE B) ORATG

C) OGRTK D) ORKTG

U FCHN #H, 24631 FT AU 'GREAT' ¥ & 3R 5897 & AT 'MONK' & &1 36T Fesmar
H TEAT 84712 &1 JATAYT AT {eM?

A) OGKAE B) ORATG
C) OGRTK D) ORKTG
Answer Key : D Your Response : D (Correct)

Question No. 17
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What happens when a solution of an acid is mixed with a solution of a base in a test tube?
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

(i) The temperature of the solution increases.

(i) The temperature of the solution decreases.

(iii) The temperature of the solution remains the same.

(iv) Salt formation takes place.
A) (iii) and (iv) B) (i) and (iv)

C) Only (i) D) (ii) and (iv)
T T § I T W&eTell A T e [Aede 3R tF a0 [Aeasr i R Srar 82
(i) FerIsT &1 AT9HT §¢ AT 2

(i) TaeR—IeT T AIIAT FH g ST ¢l

(iii) eI FT ATIHATT FHAT TEaT Bl

(iv) sIgoT 1 fAHATOT BT gl

A) (ii) 3T (iv) B) (i) 3iR (iv)
C) ahad (i) D) (i) 3R (iv)
Answer Key : B Your Response : D (Wrong)

Question No. 18

Which sports personality is also known as the 'Payyoli Express?'
A) Jyotirmoyee Sikdar B) Shiny Abraham

C) P.T. Usha D) K.M. Beenamol

QT ¥ Faftd fFa saffd &1 "gZael vFad” 3 &gl Srar 82
A) Faifaslt Beer B) Qmsel 3TSTEH

C) P.T. 3w D) K.M. diarmAre
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Answer Key : C Your Response : C (Correct)
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

Question No. 19

If the diagonals of a rhombus are in the ratio 5 : 4, then what is the ratio of the area of the
rhombus to the product of the diagonals?

A) 4:1 B) 2:1

C) 1:2 D) 1:4

e Rl aReqesr & R0 5: 4 & U & § O gHEgS ¥ &Eed AR 3uF Rl &
OB FT eI A HifSIC]

A 4:1 B) 2:1
C)1:2 D) 1:4
Answer Key : C Your Response : C (Correct)

Question No. 20

In a certain code language, 'put ta nop' means 'fruit is good', 'nop ko tir' means 'tree is tall' and
'put ho sop' means 'eat good food'. Which of the following means 'fruit' in that language?

A) pul B) Data inadequate

C) nop D) ta

e fAREd FHesmsr #, 'put ta nop' F I ‘fruit is good’; 'nop ko tir F Y ‘tree is tall' AR
'put ho sop' T 3% 'eat good food' &1 3¢ FHesmsr # fArfaf@a & @ frwer 3 ‘fruit' gem?

A) pul B) 3f&s 3r9aTed
C) nop D) ta
Answer Key : D Your Response : D (Correct)

Question No. 21

Read the following information carefully and answer the question given below.

Eight friends—Mani, Raju, Rekha, Harish, Abi, Ramu, Shiva and Arun sit in a row having chairs
numbered one to eight in ascending order from left to right. They all are facing north direction.

Rekha sits on the chair numbered six. There are exactll_y two l5>ersons between Rekha and Mani.
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Raju and Arun always sit adjacent to each other. Shiva sits adjacent to neither Mani nor Rekha.
Abi never sits on Bo¢haittAaViRg Hi'iodd Fumber on JE) NeltherSRejy nér Arun sits on chair
numbered four. There is only one person between Ramu and Raju. Abi sits on the right (not an
immediate right) of Harish, and Harish never sits adjacent to Ramu.

Who among the following sits on a chair which is having an odd number on it?
A) Abi B) Mani

C) Arun D) Rekha

@ sl & et & 96 3R i Ru v weet 1 3cr &

3Ms aRed- A, TS, Y, &der, 3, Wy, T 3R 3T e dfdd 7 93§, ol ad @ g
o WG IR FH F T F S d T arel 31 FAAT ool §1 & 7 3 Rww fr 3% g
fre gw 81

X AR ©: 7 T W I 31 Y@r AR A7 & dw BF o afaa doa §1 ey AR 307 g
TH-GEY & FoTer A o §1 Rar, A AR @r & sore 7 7@ doar g1 e Fh o Ruw Fqxw
arell FHf o AE Sodr §1 U] 3R 307, At & AR Faw Fr FH W A Joq § 9 AR T
& g & Fad TH & AfFd doar g1 &, /T F I/ I (WA T A 76 doar § AR
grer Il o WY & 9T F ST Ao B

frrafaf@a & & =i, v Fav arelr Ff w Soar 2

A) 3feT B) #AfoT
C) 31%uT D) Y@r
Answer Key : B Your Response : B (Correct)

Question No. 22

By selling goods at Rs.540, a trader incurred 10% loss. If he wants to minimise the loss to 5%,
what should be his selling price?

A) Rs.570 B) Rs.1080

C) Rs.550 D) Rs.600

A F T.540 F I W, R% Juni or qE.ngl neer (G}ﬁE- gé-'PlngNg?Eglﬁ H FH FH 5% FEA
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aEeT &, o 3HA AT Aed Rraer @ aiRe?

Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

A) v.570 B) %.1080
C) 2.550 D) %.600
Answer Key : A Your Response : A (Correct)

Question No. 23

When a zinc metal piece is placed in hydrochloric acid, gas is evolved.
A) Nitrogen B) Hydrogen
C) Oxygen D) Carbon dioxide
Jq U AT U F THS F GBI el A I@N AT §, ar da 3c9e= gl
gl
A) TSEISTeT B) &Tsgreiel
C) 3iferiietel D) @Teel SI$3TFaSs
Answer Key : B Your Response : B (Correct)

Question No. 24
Which city hosted the Asian Games in 19827
A) Chennai B) Mumbai

C) New Delhi D) Kolkata

1982 & RIS Weal Hr ASaET fFF AT o H?

A) AeAS B) #H«s
C) =% Realr D) ahrelehdl
Answer Key : C Your Response : C (Correct)

Question No. 25
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Choose the alternative that best replaces the question mark(?) in the
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

given figure.

A B 52
59

© D) g5
58

30 AFeT & 999 *, A HHT & oA Fed (?) F W W@
s % fore wafeaw sugea &

A) B)

59

) D) g

58
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Answer Key : D Your Response : D (Correct)
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

Question No. 26

Which of these Indian Prime Ministers did NOT face the parliament?
A) Morarji Desai B) Chandrasekhar

C) V.P. Singh D) Charan Singh

sH ¥ Sl ¥ HRAT YU FA TG FT JTHAT oTal fhaT?

A) ARRS ¢S B) dgA®T
C) ardr. &g D) =T &g
Answer Key : D Your Response : C (Wrong)

Question No. 27

What is the repeated reflection of sound from the walls of a big hall that results in persistence of
sound called?

A) Reverberation B) Pitch

C) Music D) Note

T a2 gicl I SaRT ¥ €afd & TR-9) WEaded S FAT Fgl J1dr ¢, odas IRUmHAEEST eafa i
FP Sl Tl &7

A) ufaeafa B) M=
C) wfia D) &
Answer Key : A Your Response : A (Correct)

Question No. 28

Find the value of sin 480° - sin 60° + sin 780° + cos 120°.

A) B)
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1

\/§+1

2

C) D)

sin 480° - sin 60° + sin 780° + cos 120° T AT FAd HTAT|

A) B)
\/§ +1 1
2
0) D)
0 ¥31
2
Answer Key : D Your Response : D (Correct)

Question No. 29

Which of the following cities are called the "Twin cities?'
A) Delhi and Faridabad B) Mumbai and Pune

C) Bengaluru and Mysuru D) Hyderabad and Secunderabad

et 3 & frw e @Y "SpEaT A" FHET I 87
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A) feeelr 3R wlierEre B) #Hsg 3k qoY

) Downl oad RRB Juni or Engi neer (JE) Exam St udy Notes
C) sere® AR A D) gereTe 3R Aeheiste

Answer Key : D Your Response : D (Correct)

Question No. 30

Lo

Find the solution set nf[x -E]_ = a; .
b) b
A) B)
a/b, b/a 0. 2a/b
C) D)
a/b, -a/b 0, -2a/b

A) B)

a/b, b/a 0, 2a/b

C) D)

a/b, -a/b 0. -2a/b
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Answer Key : B Your Response : B (Correct)
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

Question No. 31

Thrice my age three years back subtracted from thrice my age three years hence gives my age.
How old am | now?

A) 24 years B) 15 years

C) 18 years D) 21 years

e a¥ q@ A Y F AT I A AT a¥ g AN 3 F AT I F G W AN FAAT 30Y
red gl 81 A FdAE 3 AT RS

A) 24 Iy B) 15 aw
C) 18 a¥ D) 21 a¥
Answer Key : C Your Response : C (Correct)

Question No. 32

Complete the series.

86, 67, 49, 33, 20, (...)

A) 13 B) 11
C) 9 D) 7
goft & qot ffSw]

86, 67, 49, 33, 20, (.)

A) 13 B) 11
C) 9 D) 7
Answer Key : B Your Response : B (Correct)

Question No. 33

Find the HCF of 36/75, 48/I§I‘9839 gn?%lp 0Engi neer (J.E.) PDF NOTES
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A) 144/45 B) 144/150
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

C) 12/150 D) 12/75

36/75, 48/50 3R 72/30 &1 H.H.9(HCF) Ad Hifaw]

A) 144/45 B) 144/150
C) 12/150 D) 12/75
Answer Key : C Your Response : C (Correct)

Question No. 34

Why cannot sound be heard on the moon?
A) People going to moon become deaf B) Because there is no water on the moon

C) Moon has no atmosphere and sound D) No one makes sound on the moon

cannot travel without a medium

TgAT W ITATS FAT A& Golr T Wehell?
A) TgHAT W AT arel 9T §8¥ &6 S 81 B) Fifeh dgHAT X U=l oTel ol

C) TGHT &l IS argASH 16l ¢ iR €afel 9o D) AT W HIS 3Marel i Ha
HATETH & IMET o1 hL bl |

Answer Key : C Your Response : C (Correct)

Question No. 35

Complete the series.

19, 16, 21, 14, (...)

A) 25 B) 23
C) 27 D) 21
Aol = qof Al
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A) 25 B) 23
C) 27 D) 21
Answer Key : B Your Response : B (Correct)

Question No. 36

Which of the following is dealt in Article 78 of the Constitution?

A) Emergency powers of the President B) President's power to send advisory
messages to the Parliament

C) Prime Minister's duty regarding keeping D) President's power to get information from
the President informed about the the Council of Ministers

government's decisions and policies

AU & et 78 # faf@a # & fhaer aolar far arr 87

A) TS &7 ATATdTellel QAfeddr B) TUG I Tollg Tadl T Holel Fr Iseufa
$r erfFd

C) Ul AT & WHR & haar 3R Afaai & D) Tsgufad & AFGRYE F F=dRT AR Hr
IR H [Sgafd FF HGId WA & Fded d ufFa

qeferd
Answer Key : C Your Response : C (Correct)
Question No. 37

Simplify:

10+[20+(22x5)-5]x 8-2

A) -16 B) 10

C) 8 D) 18

Wl H:

-10 + [20 + (22 x 5) - 5] x 8 - 2
A) -16 B) 10
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C) 8 D) 18

Downl oad RRB Juni or Engi neer (JE) Exam Study Notes
Answer Key : D Your Response : D (Correct)

Question No. 38

If '+' and '-' are interchanged and also the numbers 8 and 6 change places, which of the
following options is correct?

A) 12+8-6=2 B) 12+6-8=10

C) 6-4+8-8=6 D) 6-8-8+8=0

Ifg '+ 3R - Fr 3w A sed RGAr v 3R FEAni 8 3R 6 & T o sea Rju ST,
RAff@a 7 ¥ *ia a1 R[eea Fgr gen?

A 12 +8 -6 =2 B) 12+ 6 -8 =10
C)6-4+8-8=6 D) 6-8-8+8=0
Answer Key : B Your Response : B (Correct)

Question No. 39

A ray of light passing through the optical centre of a concave lens emerge after refraction will
be-

A) Through the centre of curvature B) Through the principal focus

C) Without any deviation D) Parallel to the principal axis

e o & TRRIT Fg ¥ @ oRa arell Jhrer H Ol Igadd F 9
fepertt|

A) Tshdl &g H B) #ET WA A
C) fo=r fordlt fareret & D) #ET 31&T & AR
Answer Key : C Your Response : C (Correct)

Question No. 40

In a code language, 'INDIGENCE' is coded as 'DNIEGIECN'. How can 'INDIRECTS' be coded
in that language?

A) DNREIISTC B) DNIESIRTC
RRB Juni or Engi neer (J.E.) PDF NOTES
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C) DNIERISTC D) DNIIRESTC
Downl oad RRB Junior Engi neer (JE) Exam Study Notes

Th QQTHTNT # 'INDIGENCE' &I 'DNIEGIECN' fa@r 3rar %‘I 34r ;\R‘HTEIT # 'INDIRECTS' I
T ypR for@r Sreen?

A) DNREIISTC B) DNIESIRTC
C) DNIERISTC D) DNIIRESTC
Answer Key : C Your Response : C (Correct)

Question No. 41

Which of the following diseases is mostly caused by the deficiency of Vitamin 'C'?
A) Kidney malfunction B) Respiratory disease

C) Rheumatism D) Scurvy

AfRa 7 ¥ sild @ f98 SR Ra@s 'C i Fr T A §2

A) & F T B) 2@del TeT
C) drf&Imard D) Thdl
Answer Key : D Your Response : D (Correct)

Question No. 42

From a container of 50 litres pure milk, 10 litres is taken out and replaced by 10 litres of water. If
this process is repeated thrice, what is the ratio of water to milk finally?

A) 61:64 B) 7:16

C) 1:4 D) 9:16

50 oficY € QY a1 TF e’ &, 10 WX g fAwrea 10 fiey gl stem ST g1 Ife &
UfshaT T il IR QTN ST §, o e 9el 3K g & & R I9rd 7

A) 61 : 64 B) 7:16
C)1:4 D) 9: 16
Answer Key : A Your Response : A (Correct)

Question No. 43
RRB Juni or Engi neer (J.E.) PDF NOTES
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Choose from the alternatives the figure that best completes the
pattern given belgg¥in| oad RRB Juni or Engi neer (JE) Exam Study Notes

Y
X
om0

A)

o)

&

B)

¢
¢

D)

w717 feredl & & 38 P go1, T A9 U 70 Yo & QAT

gl

A)

C)

RRB

CL),

X
L)

B)

¢
¢

Juni or Engi neer (J.E.) PDF NOTES
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Answer Key : D Your Response : D (Correct)
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

Question No. 44

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All fish are birds.
2) Some hens are fish.

Conclusion:
. Some hens are birds.

Il. No bird is hen.
A) Only conclusion Il follows B) Either conclusion | or Il follows
C) Both conclusions | and Il follow D) Only conclusion | follows

59 W H, & wYEl & a1g A fAshd Ru arv §1 37 fAswd(sh) A e, s o ®9 & weifes
39ged 8l

1) gsht Aot qefr &I

2) & HAAT ATl §

fasent:
.. F& FAr gefr §

II. 5 waft 7EFF 4 3
A) Sael sy || 3uged gl B) ar @ sy | & |l 3UgFd &
C) fashy | 3R Il 3uged et & 3uged &1 D) shadl fashy | 3uged gl
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Find the missing group of alphabets in the following series.

EZ, JU, (...), TK, YF
A) FH B) OP

C) SX D) IK

R At ¥ (IR JER-AAE T ST

9

EZ, JU, (), TK, YF

A) FH B) OP
C) SX D) IK
Answer Key : B Your Response : B (Correct)

Question No. 46

Choose the figure that best represents the relationship among the

classes given below.
Pencil, Car, Stationery. Vehicle

A) B)

0) D)
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A) B)
0) D)

Answer Key : C Your Response : C (Correct)

Question No. 47

Ukai Dam was constructed across the river

A) Narmada B) Tapti
C) Krishna D) Godavari
3RS SiET FT R#ATOT ST 9T T Irr o
A) e B) e
C) &Sl D) dmera’r
Answer Key : B Your Response : B (Correct)

Question No. 48

Find the ODD one out from the given options.

A) 83 B) 39
C) 21 D) 51
fRw av Rl & @ 3T Fr oAl
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A) 83 B) 39
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes
C) 21 D) 51

Answer Key : A Your Response : A (Correct)

Question No. 49

What is the name given to the materials which are burnt to produce heat energy?
A) Chemicals B) Gases

C) Fuels D) Biomaterials

FSHT FAT 391 el & AT ST Fa arer Ygraf ST A1 FHgl SAar g2

A) ETA B) &
C) s D) Sig gerd
Answer Key : C Your Response : C (Correct)

Question No. 50

Which of the following methods is used to separate the volatile component from its non-volatile

solute?
A) Condensation B) Diffusion
C) Filtration D) Evaporation

frlr aemie e F1 38% Naswie o @ Eapd W4 & fAr Ffe@a 7 § &
fafer 1 39Aer AT arar 82

A) FueA B) fa&Ror
C) faedes D) arsdraor
Answer Key : D Your Response : D (Correct)

Question No. 51

A 300 m long train crosses a platform in 39 seconds while it crosses a single pole in 18
seconds. What is the length of the platform?

A) 680 m B) 320 m

RRB Juni or Engi neer (J.E.) PDF NOTES


https://rrbexamportal.com/study-kit/railway-junior-engineer
https://rrbexamportal.com/study-kit/railway-junior-engineer

C) 350 m D) 650 m

Downl coad RRB Junior Engineer (JE) Exam Study Notes
300 #Hrex el IS TH Tehie A 39 VHS H UK Wl § SAdfh Ig UH GH Fr 18 qohs A
IR FTdr §1 Sehid fr daS fhder §?

A) 680 HIX B) 320 #l&X
C) 350 #HieX D) 650 #Hiex
Answer Key : C Your Response : C (Correct)

Question No. 52

Average age of P and Q is 24 years. Average age of P, Q and R is 22 years. Find the sum of
their ages in last year.

A) Data not sufficient B) 95

C) 87 D) 90

P 3R Q #r 3itwa 3mrg 24 a§ g1 P, Q 3R R # 3itwa g 22 af 31 RAoa af F sa¢h 3y
& AT AT FfSw]

A) SeT 3F9aTed B) 95
C) 87 D) 90
Answer Key : A Your Response : A (Correct)

Question No. 53

24 men working 8 hours a day can finish a work in 10 days. Working 10 hours a day, how many
men are required to finish the work in 6 days?

24 9o R F Y U T & 8 €T FH F&h 10 At 7 U F Weho §1 U R & 10 we
FH T, A P 6 el & @ For & A fraar qodt Fr maegerar gefre

A) 36 B) 32
C) 30 D) 34
Answer Key : B Your Response : B (Correct)
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Question No. 54
Downl oad RRB Juni or Engi neer (JE) Exam Study Notes

What is riboflavin?

A) Antibiotic B) Plant
C) Vitamin D) Colouring substance
USEIFAfdsT T §7?
A) wemafes B) uier
C) faerfas D) {&teh Yy
Answer Key : C Your Response : C (Correct)

Question No. 55

A fruit seller purchased 100 oranges for Rs.80. If 20 of them are rotten, then at what price
should he sell the rest of the oranges to have 25% profit per orange?

A) Rs.1.50 B) Rs.1.20

C) Rs.1.25 D) Rs.1

wmﬁm#moﬁa’\rasoﬁwluﬁmﬁ#zoa?gu%,mzs%mmasm
A el A fFE HeT T AT AT aifRe?

A) %.1.50 B) %.1.20
C) 2.1.25 D) %.1
Answer Key : C Your Response : C (Correct)

Question No. 56

Pick out the set that forms the factors of 36.

A) (2,3,4,06) B) (2,3,4,6,9,12)

C) (2.3,4,6,9) D) (2,3, 4,6,9,12,18)
39 AT H g it 36 F IUTEUST { Tl g

A) (2, 3, 4, 6) B) (2, 3, 4, 6, 9, 12)
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Answer Key : D Your Response : D (Correct)
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Question No. 57

Find the least number to be added to 231228 to make it exactly divisible by 33.
A) 3 B) 1

C) 4 D) 2

9% B8 ¥ B & A Aifaw 5 231228 #F Sz W wred W& 33 @ quia: Renfaa &

A) 3 B) 1
C) 4 D) 2
Answer Key : A Your Response : A (Correct)

Question No. 58

What is the HCF of (- 3t - 4), (2 + 5t - 4), (2 - 1)?
A) t+1 B) t-1

C) 1 D) -1

(- 3t - 4), (2 + 5t - 4), (2 - 1) &7 AF.IG(HCF) 7T HfSw]

A t+1 B) t-1
C) 1 D) -1
Answer Key : C Your Response : C (Correct)

Question No. 59

The colour of the hair is due to-

A) Keratin B) Melanin
C) Peptin D) Carotene
Tl T 3T & FHROT I gl

A) Hfe B) #Aeolfaled

C) uftest D) aRIérRT
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Answer Key : B Your Response : D (Wrong)
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Question No. 60

Find the average of 3/4, 5/8, 7/12, 15/16.
A) 21/64 B) 135/64

C) 139/192 D) 11/32

3/4, 5/8, 7/12, 15/16 =t 3taa Fd AfST|

A) 21/64 B) 135/64
C) 139/192 D) 11/32
Answer Key : C Your Response : C (Correct)

Question No. 61

Which of the following musical instruments is designed to send sound in a particular direction
without spreading it in all directions?

A) Keyboard B) Guitar

C) Violin D) Trumpet

farfaf@a & ¥ =l ar Tofia agdy eafar Fr asfr femsit & $eme Fer Rl Ry feer 7
Ao & faw Bemea fhar mar g2

A) FrErs B) fer
C) arafar D) &
Answer Key : D Your Response : D (Correct)

Question No. 62

1.2
921>
: : 3 11
Simplify: 1

3+ T

3+

3+1

3

A) B)
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109/38
C)
38/109
T fifaT: - 1
3+L
3+1
3
A)
109/38
0)
38/109

Answer Key : C

Engi neer (JE) Exam Study Notes
1

D)

33/109

B)

D)

33/109

Your Response : C (Correct)

Question No. 63

Which word will best complete the relationship given below?

Joule : Work :: Watt : ?
A) Resistance

C) Pressure

B) Power

D) Force
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FleT A Aeg Y R 910 e 1 Fafeaw® o1 § O F@M?
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S HF s A ?
A) wfader B) «afed
C) ae D) &
Answer Key : B Your Response : B (Correct)

Question No. 64

An investment of Rs.16000 at 8% Simple Interest for 1 year and a second investment at 18%
Simple Interest for the same period together fetch a return of 10% on the total investment. Find
the total sum invested.

A) Rs.22000 B) Rs.18000

C) Rs.20500 D) Rs.20000

1 a¥ & fAT 8% WYURUT =47 W $.16000 1 fFaer 3 TH7 3™ & AT 18% HHRUT s
W gAY AT A W, For AT W 10% F7 A7 Gred v g1 e fr 71§ Fo IR« AT F:

A) %.22000 B) %.18000
C) 2.20500 D) %.20000
Answer Key : D Your Response : D (Correct)

Question No. 65

Simplify: \(1[] - \/2?' +4/65++/256

A) B)

C) D)

RRB Juni or Engi neer (J.E.) PDF NOTES


https://rrbexamportal.com/study-kit/railway-junior-engineer
https://rrbexamportal.com/study-kit/railway-junior-engineer

	RRB JE CBT - 1 Question Paper With Answer key 27 May 2019 1st Shift.pdf
	RRB JE CBT - 1 Question Paper With Answer key 27 May 2019 2nd Shift.pdf

